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Version A

Welche der folgenden Ableitungen ist/sind korrekt?

(a) (log(2x))′ = 2 log(2x) 1
x

(b) (esin(x))′ = cos(x) esin(x)

(c) (
√

ex)′ = 1
2
√

ex

Korrekt sind: b) und c)

Version B

Welche der folgenden Ableitungen ist/sind korrekt?

(a) (log(2x))′ = 1
x

(b) (esin(x))′ = cos(x) esin(x)

(c) (
√

ex)′ = 1√
ex

Korrekt sind: a) und b)

Version C

Welche der folgenden Ableitungen ist/sind korrekt?

(a) (log(2x))′ = 1
x

(b) (ecos(x))′ = cos(x) esin(x)

(c) (
√

ex)′ = 1
2
√

ex

Korrekt sind: a) und c)
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